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ŤǅƹƒƬ�Ơƽŵ ǃŮƍƃ

ƫɔƭžŭ ǃƬŤƕţ
1/71 221,046,000 ſƃǆŗƄŧ ǃɔǁŧţ

221,046,000 ſŤǅǁƎɔǪ
83/81 10,826,095,000 ſƃǆŗƄŧ (ƮƄŧ)�ͬͺɓƄŮͺƸţ�ɑǆƄɔǀ�ƠɓƅǇŭ

(10/40) 9,700,095,000 ſŤǅǁƎɔǪ
0/60 78,000,000 ſƃǆŗƄŧ ǂŤȡƃŤȔ�ƾƀǏǶƄŧ�ǆ�ƆǏǅŶŭ

(100/00) 0 ſŤǅǁƎɔǪ
13/88 1,792,767,580 ſƃǆŗƄŧ ǌƄƉʬŤŧ�ǃǁǎƆǄ

(100/00) 0 ſŤǅǁƎɔǪ
100/00 12,917,908,580 ſƃǆŗƄŧ Ơƽŵ

(23/20) 9,921,141,000 ſŤǅǁƎɔǪ
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T008

�ţƄŵţ�ƷźƼ

ƃŤȔ�ƷȔ�ǆ�ǃŮƍƃ�ŦƊŹ�Ƅŧ�ſƃǆŗƄŧ�ƤƹŨƼ�Ťŧ�ƃŤȕǀŤƽɔǪ�ɑſŤǅǁƎɔǪ�ƤƹŨƼ�ǃƊɓŤƱƼ���4�ƶǆƀŵ

�ɒɓţƄŵţ�ǂŤȢŮƉſ�ƺŤǀ

1/1 �ǃźƭƑ
�ƋƃţƆȡ�żɓƃŤŭ1401/02/04

�ƃŤȔ�ƟǇƕǇƼƿɓǆƆư�ƾŤŮƉţ�ƀɓƀŵ�ɑŤǄ�ǂŤǶ�ǃŧ�ͬǀŤƉƃ�ƮƄŧ

(ƶŤɓƃ�ǃŧ�ƤƹŨƼ)


